TI-75pire Name

STATISTICAL INFERENCE: Period Date
Confidence Intervals

Open the 1-Prop Confidence Intervals file on your TI-72Spire. Save the file under your
name and today’s date. Follow the instructions and record your answers on this page.

1.1 Mystery Inc.

1.21dentify your variables and set up your formula.

1.3Report the confidence interval from your formula.

1.4Interpret your confidence interval. Be sure to include the context of the problem.
Use complete sentences.

1.6Report the confidence interval from your TI-7&5pire.
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How, yvou will use your Nspire to construct a
98% confidence interval. Do this on the next
page.

5o to the stat menu and choose confidence
intervals. Choose 1-Prop Z-Interval. Then
enter all of the appropriate parameters.

1.7How do the two intervals compare?



2.1New Federal Law?
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IZ. “Would wou favor or oppose a federal law
that would lower the drinking age in all states
to 187"

Favor Oppose Unsure

22% 7% 1%

According to a Gallop Pol; MN=4G4
July 12-15, 2007

R C—— 5 | 0

source: wisns pollingreport.com

2.3Report your 98% confidence interval.

2.5Report your 95% confidence interval.

2.5 Report your 90% confidence interval.

2.6Describe your conclusions after comparing the three intervals that you just
constructed. Use complete sentences.



3.1Supreme Court Ruling

3.3Quinnipiac University Poll: Report your confidence interval.

i 3.1 |[PRAD AUTO REAL 7]
=
"As you may know, the Supreme Court A

recently ruled that public schools may not
consider an individual's race when deciding
i

which students are assigned to specific
schools. Do you agree or disagree with this
ruling?"

Agree  [Disagree  Unsure

71% 24% =%

3.6 ABC News/Washington Post Poll: Report your confidence interval.
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can use race to assign children to schools.
Some argue this iz a significant sethack for
efforts to diversify public schools, others say
race should not be used in school

i

assignments. On balance, do you approve or
dizsapprove of this decision?"|

Approve  Disapprove  Unsure
A0% SE% 4%

3.7Compare the two confidence intervals. Are they the same? Do they overlap? Why
do you suppose they are (or are not) the same? Use complete sentences.



